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T PART-II

ellevmil w6V / ZOOLOGY
(50 wpmb <phéa eyl / Tamil & English Version )

[ Quorgs wHIGCLETEET : 70
[ Maximum Marks : 70

afleyenrset : (1) imargs eamss@sd sflures Lferdl o erersT GTETLIS G &

Instrictions :
@y @ @)
i)
Note : (i)
(i)

siurisgé Qsrdrareyn. ssLiLgale Gopulmier siemm
samaratiiumerfib o L angwrs Ggflellssea.

2) Reod g smUY @wwlomea wLHED T (PSS (GLD
2Niq&EGCETY(eISHEGD Lwen D55 Co @D, L LESET aleneusn@

GueTdld LwleTURSSID.

(1) Check the question paper for faimess of printing. [f there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

L&l - I/ PART - I
Smeggl lamssEpsEn el well&Esea|b. 15x1=15
Qar@ssiu (Herer rhm elenLsafled Wsabd ghyenw eflenLenwid
Cabs0s8s GPLHLrer elaLwimeand Csisg er(pseib.
Answer all the questions.

Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. pser wsadld wEsgie wruay SfFms ppold Hlarsdl el Comi ;

(<) SCID (<=y,) AIDS
(8) udDCHML () Biod Sla sipps
The first clinical gene therapy was done for the treatment of :
(a) SCID (b) AIDS
(c) Cancer (d) Cystic Fibrosis
2. ____ _wpmd o HCuri wrugy deaaliur®@ wpmio

ApHuL@sgsma as@b Wssflphs ‘Ors gurrear wrdfleaw
or.Caranaule 2 (Heursslet.

(<=1) QaniCay, Geav (<) Coyath, Guomenmmi
(@) GilgdGee, uLTE) () eurlger, Sifls
| ) | faad\\\ /[ /N proposed the: rlassical model of Lac opcron to explain

gene expression and regulation in E.Coli.
(2) Hershey. Chase (by Jaccb, Moriod

(c) Meselson, Stahl (d) Watson, Crick

3. Gubmsudar Qrss ems O e, A @rs5s eums CQsrarL ShHeng Wb
pHmb B @rés aams dsramL srujb GTEU QUENS WITET O L] GUENS e W&
Q& TesTig (HLILIMT ?
(1) A 10 wpmid 1B 1° (<) TATA o 1B 1O
(@) 1°1° wpgd IPIP (F) TADB opmyb 1010

I the Child’s blood group is ‘Q’, the father’s blood group is “A” and the mother’s blood
group is ‘B’, the genotypes of the parents will be :

(a) IAIOandIPIO (b) IAIAand IBIO

() I°OPandIBIB (d MBandIOO
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4. &pm (A): XX - XO euens umed Bifewrud, gprel yédlser, sroumer
L&ser wopmd Ceul (s Aeflsafler sramriiL@elamen.

smewid (R): orhs opg Qed, siarL dedo® smens eldpsg
eranLiansL) Qurnss Gl e udfluller Limed Biranuisasiiu®mns.

(1) (A) wpmid (R) &, (R) eremuig) (A) -ufen sflwmen ellemdsid @)dane.
(<) (A) wppd (R) Qram®Go saum.

(&) () #fl (R) seum.

() (A) mpmid (R) &, (R) erauig) (A) -uler sflurar eflarésio.

Assertion (A) : XX - XO type of sex determinaiion is seen i tedbugs, cockrcaches
anc grassnoppers.

Reason (R) :  The sex of the offspring depends upon the sperm that fertilizes the
egg.

(a) Both (A) and (R) are true and (R) is not the correct explanation for (A).
(b) Both (A) and (R) are false.
(©) (A) is true and (R) is false.

(d) Both (A) and (R) are true and (R) is the correct explanation for (A).

B | [ Sliys / Tumn over
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5.

5CYp QsrRés UL Qdararaupiled #fl wHmb Suprar airgg W) &em e

&L PlweyLb.

@)  QerrevGuomeuwitd eneueumaen B al@mpGsmbsEmans Qsmeim 2_uq,

(ii) LE]GITrrGfU(SLqu_u_l‘e_'r,g]eﬁT aurpsams spHHuld emeCasrCsmed, LTl Cared]
LOMIL CUTCrTCsreaf eremm (el HlenauasaT EmemTLiLi(Hdlemm e,

(i) Qufw DFHTERT (D & 6rfl Eh&er BImSgILar g W LUy Slob wrer
Ao LGNl 6T FIsciTaer &rewrLILI (Dl emen.

(iv) Lﬁlmrrdo(?mrnq_u_lg Qs rhblermed Qrss Cleudrenarigmiéser 2 L&l FLOHE
Gerpuiled smigaa)ib O BlGHSEHD ehu@Eeammen.

(=4) @) - o), (i) - o, (i) - souny, (iv) - o

(<) @ - &, (i) - o6, (ii) - au), (iv) - soum

(&) @- e, @) - sougy, (i) - o, (1v) - Saum)

(7) @) - seumy, (i) - &, (iii) - Heumy, (iv) - &

F.ind the true and false statements from the following :

(1) Plasmodium vivax is a digenic parasite.

(i)  The life cycle of Plasmodium involves 3 phases namely, schizogony, polygony
and sporogony.,

(iii)  The large schizont shows yellowish - brown pigmented granules called Schuiiners
granules,

(iv) Plasmodium infection leadis to Lysis of white blood cells results in cycles of
fever 2nd other symptoms.

(@) (@) - True, (i) - True, (iii) - False, (iv) - True

(b) (i) - True, (ii) - True, (iii) - Faise, (iv) - False

(©) (i) - True, (ii) - False, (ii) - True, (iv) - False

(d) (i) - False, (ii) - True, (iii) - False, (iv) - True

Spaimeiaraipley ' ehs  Urdefub Ts@TDd 2 pHusHuded
FHUBSsLLBuS0ame ?

(1) emiélemm Cleusg AEed

(=) s&a1Grrenbsen QafedCu

(8) @yCurQardar srémsLiaden

(rr) ensCGurGremmey Quom9esen

Which one of the following bacterium is not involved in ethanol production ?

(a) Sarcina ventriculi

(b) Saccharomyces cerevisiae

(c) Ideonella sakaiensis
(d) Zymomonas mobilis
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&G Qar@ssuul_(Hdrer erhg GCrmCLrGamnd Sigls U 9L rellanens
QararT(HeTerg ?

(1) GCrmGurGamb Y’ (<=1,) GOrmCGlorGem 1
(@) &GrmGLrGsmbd 19 (/) &CrrCGrGemd 13
Which of the following chromosome has the highest gene density ?
(a) Chromosome “Y’ (b) Chromosome 1

(c) Chromosome 19 (d) Chromosome 13

£Byp Qer(ésinlBarar sneilsafld ag aeriaGaien @swssig iy eis
pHmb sTUUsTe @nsudd paL 6lumnb Qew@ser wHmb Grse eued
Guranpeupeps sETLHlu 2 gajfng ?

(1) HmEamHTiULS (el (<) EEG

(@) valsELs semeruy () CVS

Which one of the following technique is used to monitor the foetal heart rate and other
furictions during late pregnancy and labour ?

(a) Foetoscope (b) EEG
(c) Armmiocentesis (d) CVs

erg r@um(meTHenar 25 -ziamal 2 pLISE LFlig) Qouefied(Hy B Qzd alena

wirgl ?

(1) Qararel Qedse () Hevareurpe Qacse
(@) Guerdeser (7)) Qermaviom ClFeaer

B Cells that produce and release large amounts of antibody is called :
(a) Killer Cells . (b) Memory Cells

(c) Basophils (d) Plasma Cells

»&GL & & arl i @oem_b 2 (HeUTGLD Nearargnd sfleysaie) rhs > Gar s
Sdlsorss sramiL@Epng ?
(@) Geuerafl () LGeiguwid

which among the following metal is

(1) shsD (<) STLOIFLD
In the E-waste generated by the mobile phones,
most abundant ?

(a) Gold (b) Copper (c) - Silver (d) Palladium
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11. Sipssa orhs wrselLmis Carermy eflwrsl QurmssLLL(HeTerg ?

(=1) <CerQuGammiur -  eifsligwrear wrEedlLmo
(<) QuCamGrrgdur - awdlbilEgphs wrgeilmi

(@) gQwCamflwr - rgellLmi Géoarsmése

(FF) Lq.@T'UQLDGGMWrﬂU_Jrr - @@rﬁjg;g')g) LDrrg,@S]eru'_J

Which of the following menstrual irregularities is correctly matched ?
(a) Oligomenorrhoea - Excessive menstruation

(b) Menorrhagia - Painful menstruation

(c) Amenorrhoea - Absence of menstruation

Irregularity of menstruation

(d) Dysmenorrhoea

12. &Cué Qar@asiiul @erer aps elami@sailar Osr@L S LT@oeIETSED
srewTiL(H e
(=) @pHws TG e, sramLmbmsd, wolorenser
(<) omé piued, RET(H el aLl SamGlLad

(@) &mLL Wwie, QBSHIW (peTeume LicoalgeT, Geudanarsared mifl

() QeQrdl Lenar, OF GBTUSE, HTiqHe
Which of the following group of animals are the common fauna of the Thar daserts ?
(a) Gaur, Rhino, Antelope
(b) TJack rabbits, Kangaroo rats, Pocket mice

¢) The blackbuck, The Indian Spiny-tailed lizard, The white-footed fox

—

d) Bobcat, Timber wolf, Black bear

—_

13. 9ereupeuaneuppled eTS @GP 26T LTGSTUIL| oS FTTHSS AW ?

(1) 2ulifGamer sl (<)) UseLhisar

(@) Gl yrismdser
Which one of the following is not coming under insitu conservation ?
(b) Sanctuaries

(d) Zoological Park

() efemdud Yhsréser

(a) Biosphere Reserve

(c) National Parks
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14. Qembd 2 ulM senaf QamiQumssd pen AU 2 w9 ;

(<21) @ool Qe (<) Coalsser

(@) QereGammSwr (7) Quomgés

Paedogenetic Parthenogenesis occurs in :

(a)" Ziphis (b) Honey bees
(c) Solenobia (d) Gallfly

15. @it Gandam b anrig ienbuis swflaaude erICurg @\ mEsTg ?
(=) Qandsnl L gdlean siate) Quilgrs G mbsme.
(<) ewliflamaiger Gaitey Gz swafluien FELAED Curg).
(@) Her LIHPL Géders Hlaaudd.
() euewans Gurge Gevers Hlanaude.
A population will not exist in Hardy-Weinberg equilibrium if :
(a) The population is large.
(b) Individuals mate selectively.
(c) There are no mutations.
(d)  There is no migration.

LS - 11 [ PART - T
GOl : eremauBLiggiy ) elamasenés N walsze|b. elarm arair 24 6@,
SL_L_TWLDN % 6MlenL_UJer&HaLD. 6x2=12
Note : Answer any six of the following. Question Number 24 is compulsoxy.

16. Sbume eremmre ereman ? igen EALSHSHD gCs@ID Gandlerer 6T(pEIs.
What is Colostrum ? Write any one of its significances.

17. smiCsl QeariLs &s em pranfloors &rudls d& - Buruiubsss.

Placenta is an endocrine tissue. Justify.

18. amemiqmiL e Gamilumr eremmmed eremmen ?
What is Huntington’s chorea ?

19. ged ufewrwob wpmn &Afl  LflerTo fapsflsmer @bl
aTHsgEsM_HLen Ceupu(HSSIS-

Differentiate divergent evolution from convergent evolution with one example each.

B | [ &mLLs / Turn over
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20. Qededwed g)asﬂsmmuu@ggjgéo eremmmed eresen ?
What is known as cytological jsolation ?

21. Geuglw 5 (5 & 7 & 6T 6T GG T o L)@ &wawed FUiHE SHLSANS
Qrweu@Semper ?

mical mediators act as physiological barriers ?

How does che

22, @QUDens Couamramentoudlen (pEEW LG ST T (LRG!S

Write the key features of organic farming.

03. &euliy UL iguiedle aesliu@SsuuLBerer er_(H cuEngWTe A b (Bl urril S6T

wirened ?

What are the eight categories of species in Red List ?

24. 2025 -1 TG, 2O piEsEaT QgTansulle, epardler D@ UBEG Gur,
gaianti g;ﬁ-@\DuWLL,HGD Sjeudlimau. DL ETE BT LDT&LITL- g 606 &H&ES GTHS
G PEPMEDMET eSWITaTmS ?

By 2025, twd thircls of the world’s Poptlation may face water saortages. So, what are
ares to b2 taken to reduce watar polliztion ¥

auensUren Sh
the preventive inas

LS - I /PART - 111

stemeuGuien|ld Ml AarrésEré@ ofeLwafl
33 -&@E &L LMWILNS SlenLwafl&EEa|LD.
n Number 33 is compulsory.

H&@|b. edlerm G

@oiLy :
6x3=18

Note : Answer any six of the following. Questio

IR

25. @puiy B L6 eramprey GTGITE ? BET GUENSHHEEIT

What is regeneration ? Explain its types.

26. crapauGUad ppey eiTey LT el amens Qsrhm CHTUSMETWD i e
SfGHsmerd el6mé@Es.
Describe any three of the Viral ST and mention their symptoms.
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aflls wruey il sHan PE&HU Qas@smen 6(psis.

Write the main goals of Human Genome Project.

Cuéloaf E5CLSH whmb <895 E5CL4 UG Camubssis.

Compare and contrast bacillary dysentery and amoebic dysentery.

2 g6l QUMD eumpéans CTEDITED eratan ? eif rHSFGST_(HLer efars@s.

What is Commensalism ? Explain with an example.

oy wrHpULC L Lulfsailéd Heoy fensefan (Cry genes) uiidlaar eleuflésaytb.

Explain the role of Cry genes in genetically modified crops.

opr@uwaiy wrpplule 2 Wfilsmer FHMEFGLPOID H6uSGMmD TS
(D el& b Cung do sowmsale AT Godiwed oamerajsamen
> @ rs@Herpar wrdwdy wrpptue e Wllermsarnd Cpfll Egnig i
DLLISHIGET UIrenal ?

Deliberate release of GMOs ( Geneticaily Moditied Organisms) into the environment
could have negative ecological effects. Write the possible risks of GMOs.

Lgeno @éde eflenere) GaeelliLre Ll ereueumm @ma@D ?

How would be the earth without \green house effect ?

f 60 W 6t L6 ClFWa pedlemEDsTs sHUME CFLS. THS

cuenawrer efLifgLomen
elleufl&saLd.
if atrophy of thymus occurs in a child, what would be the serious

Imagine, ould face ? Explain briefly.

consequences the child w

[ ALy / Turn over
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LGS - IV /PART - IV

Gy : SewenSgl eNaTésEHe @D Aen_wefl&sa|b. 5x5=25

Note : Answer all the questions.

3. (=) wsLGum wHmL urer (s g salGLréle wHmb Meoms &le
anriGorarseaien Lkigamer eNlersEs.

S{EVE0F)

- UETWMIGSHE|D. DASDEHTET ST ERTRIGEET CT(LDSIS.

\

(%) ”LDGDIL@(&SQ’)GBTG’G)LD”
(a) Explain the role of oxytocin and relaxin in parturition and lactation.

OR
(b) Define infertility. Write its causes.

35. (=) wallzafle sramiu@n urd GGCrrGurGsmiflar @uiedL) WIHMOLD L)
elleuflgg 6T(pgis.
SI6V60 )
(o) “LmieGeller @Heiice DD eSS on! LILITETL g6 <2}, LIena
e mLIYY uru@ssiea Anss ahHsgISSTL (B adr QLEs0" .
@&ClarpCiprLeny Bwmuiuiés s.
(a) Give an account of allosomal abnormalities in human beings.

OR

(b) “Darwin’s finches and Australian marsupials are suitable examples of adaptive
radiation” - Justify this statement.

36. () wrugmis GPlu@salear ApUyl udTUS@eT L g W6l [,
. 36060
(=) WGasAGLM Gaefled LIgCWASSDH BenL QL popen eflersEs.
(a) List out the salient features of genetic code.

OR

(b)  Explain the process of transcription in eukaryotes,
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(1) UTELCray shdled cfamaraul LwaL@sS AmbEuw wrdhuled
ereueurm ruem Qupssnd Gelwiu@GEams ?
D660
(<) vaflgisaiies odswrs, LrauTss sreamlu @D Qrar@® U e en
CpmiseT Wreney ? jeuhenn efleuflésal.
(a) How is amplification of gene sample of interest carried out using PCR ?
OR

(b) What are the two most prevalent helminthic diseases in human beings ? Explain
them.

(1) Sjwepr’ () Qemiseflar 2 atCampmd LDDH efleuflésa|b.
3|60V
(<) @euQeur@m e Wfarpd Sigen SHNFGPSS THU eSlenarLyflflerme.
2 WyHn srrafsErssTar eleomGsald o 6Ter Senisnsaten ouamasEEET
clems Gs.

(a) Explain the exotic species invasion.
OR

(b) Every living orgarisms responds to its environmuent. Explain the various types by
which organismis respord to abiotic conditions.

)

Z

-00o0-
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